=BHS

BATTERY HANDLING SYSTEMS

TECHNICAL SUPPORT DEPARTMENT

1.877.BHS.4Y0U M-F 8:00a.m.-5:00 p.m. CT
(1.877.247.4968) BHS1.com

BE-TS SWING GATE RETRO FIT KIT
P/N: 80312013

AS SHIPPED

AS INSTALLED
QTY PART# DESCRIPTION
1 43815027 BE-TS RETRO FIT SWING GATE
1 43017064-2  LATCH-GATE
1 1481A11 HINGE SPRING
9 1412FSW BOLT-SELF TAP "F*-1/4-20 X 3/4"
1 HW0030 BOLT-HHCS-3/8-16 X 2 1/4"
2 HW0108 WASHER-FLAT-3/8"-SAE
1 HW0031 NUT-HEX-CENTERLOCK-3/8-16
2 HW1093 CABLE CLAMP-3/4"
2 HW1094 SCREW-HHSDS-#10 X 3/4"
3 E0602-1 TIE WRAP-8"
2 E1045 IN-LINE SPLICE
6" E0905-1 HEAT SHRINK
1 05018007 SHIM-1/4"
1 80312013-i INSTALLATION INSTRUCTIONS

©2008-2009, Battery Handling Systems Inc.
St. Louis, MO. All Rights Reserved.
07/09 Rev 0



